
   SET-B 
Unique Paper Code  :  62274301 
Name of the Paper  : Principles of Macroeconomics-I 
Scheme/Mode of  
Examinations  : CBCS Mode  
Name of the Course : B.A. (P) 
Semester  : iii 
Maximum Marks : 75 

 
Note: Answers may be written either in English or in Hindi, but the same medium should be used 
          throughout the paper 
 
fVIi.kh% bl iz”ui= dk mÙkj vaxzsth ;k fgUnh fdlh ,d Hkk’kk esa nhft,] ysfdu lHkh mÙkjksa dk ek/;e ,d 

    gh gksuk pkfg,A 
 

Instructions for Candidates : 
vH;fFkZ;ksa ds fy, funsZ”k%   
     Attempt any four questions. 

fdUgha pkj iz”uksa ds mRrj nhft,A 
     All questions carry equal marks. 

lHkh iz”uksa ds vad leku gSA 
 

Q.1 Differentiate between the Classical and Keynesian approach to the macroeconomic issues .  (18.75) 
                                                                                                                                    
lef"V vFkZ'kkL= ds çfrf"Br ,oa dhal ds –f"Vdks.k ds e/; foHksn dhft, 

 
Q.2 Define private disposable income. Explain the product approach to measuring gross domestic product      
(GDP). What adjustment are required to calculate gross National product (GNP) from gross domestic 
product (GDP).                                                                                                                                   (18.75)                                              
                                                                   
 futh [kpZ ;ksX; vk; dks ifjHkkf"kr dhft,A ldy ?kjsyw mRikn dks ekius dh mRikn fof/k dk o.kZu dhft,A 
ldy ?kjsyw mRikn ls ldy jk"Vªh; mRikn dh x.kuk gsrq vko';d lek;kstu D;k gS\ 
 
Q.3 (i) Explain the concept of budget surplus. ( Diagram is required) 

(ii) Suppose government decides to reduce transfer payments but to increase government 
purchases of goods and services by an equal amount( i.e. ∆G = -∆TR) . 

(a) Would you expect equilibrium income to rise or fall as a result of this change ? If so ,why?  check 
your answer with   the following numerical  example; suppose that, initially, C= 0.8 ,t= 0.25 and Y0 = 
600. Now let  ∆G=10  and  ∆TR=-10 . 

            (b)Find the change in equilibrium income , ∆ Y0                                                                                                              (8+10.75) 

(i)  ctV vfrjsd dh vo/kkj.kk dk o.kZu dhft,A (js[kkfp= vko';d gS)  
 

              (ii) ekuk fd ljdkj gLrkarj.k Hkqxrku dks de djus dk fu.kZ; ysrh gS ysfdu oLrqvksa ,oa lsokvksa dh  
ljdkjh [kjhn dks leku ek=k ls c<+kus dk Hkh fu.kZ; ysrh gSA (vFkkZr ∆G = -∆TR)  



             (v)  D;k vki bl ifjorZu ds ifj.kkeLo#i larqyu vk; esa o`f) ;k deh dh vk'kk djsaxs? D;ks ?a xf.krh; 

mnkgj.k dh lgk;rk ls vkids mÙkj dh tkap dhft,, ekuk fd ,  çkjafHkd :i ls, C= 0.8 ,t= 0.25 rFkk Y0 

= 600. rFkk ∆G=10  and  ∆TR=-10 . 
            (c)  larqyu vk; (∆ Y0)esa ifjorZu dks Kkr dhft,A 
 
Q.4 (i) Explain the concept of automatic stabilizer.    

(ii) Explain why real output increases when both taxes and government purchases increased by the   
same amount.  

    
                       (8+10.75)  

(i) Lor%LFkkbZdkjd dh vo/kkj.kk dk o.kZu dhft,A 
(ii) o.kZu dhft, fd tc dj rFkk ljdkjh [kjhn nksuksa leku ek=k esa c<+rs gSa rks okLrfod mRiknu 

D;ksa c<+ tkrk gS\ 
Q.5 (i) What is the desired capital stock ? How does it depend on the expected future marginal product 

of capital, the user cost of capital and effective tax rate? 

            (ii) Define net export function. An increase in marginal propensity to import reduces the 
equilibrium income in an open economy while an increase in autonomous export increases the 
equilibrium income. Explain with the help of a diagram.                                           (10+8.75) 
                                                                                                                                                                                   

(i) bfPNr iwath LV‚d D;k gS ? ;g iwath dh çR;kf'kr Hkkoh lhekar mRikn] iwath dh mi;ksx ykxr rFkk 
çHkkoh dj nj ij dSls fuHkZj djrk gS ? 

(ii) fo'kq) fu;kZr Qyu dks ifjHkkf"kr dhft,A ,d [kqyh vFkZO;oLFkk esa vk;kr dh lhekar ço`fÙk esa o`f) 
vk; ds larqyu Lrj esa deh djrk gS tcfd Lok;Ùk fu;kZr esa o`f) vk; ds larqyu Lrj esa o`f) djrk 
gSAjs[kkfp= dh lgk;rk ls o.kZu dhft,A  

Q.6 (i) Suppose that money demand is given by ;-  

                      Md  = $Y(0.25 – i) 

Where  $Y is 100. Also, suppose that the supply of money is $20. 

(a)What is the equilibrium interest rate? 

 (b)If the federal reserve bank wants to increase i by 10% points at what level should it set the supply of 
money ? 

 (ii)  Explain the concept of money multiplier.                                                                                 (10+8.75) 

ekuk fd eqæk eakx fuEu çdkj ls nh xbZ gS ;- 

                                                       Md  = $Y(0.25 – i) 

tgka Y (vk;) $ 100 gS, ekuk dh eqæk dh iwfrZ $20 gS 

(v)  larqyu C;kt nj D;k gS ?     

(c) ;fn QsMjy fjtoZ cSad 10% fcanq ls  i (C;kt nj) esa o`f) djuk pkgrk gS rks  mls fdl Lrj ij eqæk dh 
iwfrZ dks fu/kkZfjr djuk pkfg, ? 

   



 


